@

SERR29F (7)) #1632%

B B 8%

WIREETOYT O 1/3

W EE RSB a7 b T R29F3ASHIRE
A3 N ==
& E D & (B M)
£5| B B ol T4 # =
1 |FEE-EHEE 2,246,193 928
2 |RIRAE 57,839,171 0
3 &Y 359,868,355 0
4 (Bt REERE 235,711,619 0
5 | LE#H&EHmHA 138,409,802 0
6 |—fEEIERE 1,135,955 0
7 |V—REE 150,216,000 0
8 |YIkHzT 1,561,909 0
9 |HESE 10,000 0
10 (ZEARIE 172,422,648 0
11 |EfFEfE — 10,474,091
12 [FAEFR — 54
BEESRE 1,119,421,652 10,475,073

(3¢1) fREEEE CER28FEIA 1 B ~FR29E3 A 8H ) DFEE 5 EORERTBEICHHIN-EE ThHD,

8 & o #

&5 R EERE BREOHLMEESE

1 | —RRERE(EE Jea R R % 3IEAL

2 |BEMIHESE 0 E-3):Fvd

3 |BIERHE 21,254,500 FE 1B
BiEEE 21,254,500




@

WIREETOYT D 2/3

IR X i & £
B TR29%388H
T 30438 28H
TA29F (7) 16325
B E E BRASHEEIOSIIN
WEEMAFEL E Kk & B
(84 F)
A D = ¥ H D =
2 B B &% == B = &%
] BER ABEA
1 [z Tme ol 1 [=mam BT (s 18,840
o1 | RS [menEge 10,474,090 || 2-1 [FEELHM GRS 378,000
e BT HE (AR
22| EBERITS 1|22 e e perane) 108,000
5 gg”@ﬁ*%ﬂ 928 || 3 [mErzam 3tk 1,512
4 *IJI§\ 54
&t 10,475,073 || |&&t 506,352

=51%S

49,968,721




@

WIREETOYT O 3/3

HigxHER

WRE294E (7)) #16325
it B & MRESHBREE T = b

WEEM AN gt EkIEH
(e B = SER%294E3 H 8 H -RiT9FRF004y )
(HEIEEXERE
BEDER BEDER Hir=H
% B FHMm%E =B | & B BEEXRT
5 ARMNE |5 =A%
1 |[EfETE 10,474,091 | 1 |—fSHEE(EIE Jea S PR
2 _|EEmEEERE ;
2 |TEEFR 54 |2-1f PEVE S %%E’JE&E
3 |FEE 928 INEt
. 0
3-1 g‘g;ﬁ*&("**ﬁ 21,254,500 | gtmisie
5| I E CGREL /gt
%ﬁﬁlﬂ)ﬁ
3-g| EMEHE (€D 21,254,500
fth)
BESE 10,475,073 BESE 21,254,500

ESIEETEE A 10,779,427




